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XTA MH 'PAMMIKA XYYTHMATA

. Na 2000V ta cuetipoT

. Noa Awbovv ta cuotiuata :

X2 —y?+2xy =7
0
X+y=3

. Na 2000V ta cuetipoto :

{xz —3xy+y*=11
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Xy =5
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X-y+7=0

. Na 2000V ta cuetiuoto :

X? +xy =12
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y2 +xy = 24
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{x +y +xy=3

x> +y?=5 X*+y? +3xy = -4
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Xy =2 X+y=2
. Na 2000V ta cuetipoT :
y = 2x2 2xy -3y—-3=0
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_2x+y:4 y2—4xy+15:O
X+2y=-1 X’ +y?=5
Vo 4o d)
X°—4y° =5 Xy =2
. Na A2000v ta cuetpoto :
x* +y> =26 x*+y>=5
R pi
y—-x=4 X+2y=4
x?—y>=8 x> +y>=25
Y){ %)
X+y=4 X+y=7
. Na 2000V ta cuetpoto :
X2+3 2:4 2—X2:9
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X+y=2 X+y=9
X —2y* =14 X +y? =
v){ ’ 6){ g
X-y=3 X+y=-—

X+y=2

X+y—

X-y=2

X+Yy+Xy=>5

X2+ y?+xy=7

x* —xy+y° =39
X—-y=7

Xy —2(x+y)=-
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